Laboratory 2

Task: 4

Table presents algorithm for assigning 8-bit values to 32-bit value.
Lp. ToDisp0_3 Disp0 Disp1l Disp2 Disp3 Action
(1) | 0x00000000 0xB0O 0xA4 OxF9 OxFF OR( ToDisp0_3, Disp0)
(2) | OxFFFFFFBO 0xB0O 0xA4 OxF9 OxFF Shift 8 bits to left
(3) | OxFFFFBOOO 0xB0O 0xA4 OxF9 OxFF OR( ToDisp0_3, Disp1)
(4) | OxFFFFBOA4 0xB0O 0xA4 OxF9 OxFF Shift 8 bits to left
(5) | OxFFBOA400 0xB0O 0xA4 OxF9 OxFF OR( ToDisp0_3, Disp2)
(6) | OxFFBOA4F9 0xB0O 0xA4 OxF9 OxFF Shift 8 bits to left
(7) | OxBOA4F900 0xB0O 0xA4 OxF9 OxFF OR( ToDisp0_3, Disp3)
(8) | OXxBOA4FOFF 0xB0O 0xA4 OxF9 OxFF Stop




